L
@© y=2x2-2(x+1)? @ y=2(x-1)+25
® y=x-(2x+x?) @ y=x>-(x+1)2

® y=3x2-(2x+1)2



2.




3. oA f(x) = x* 4 2x - 3 o YISt O T A @2 A0

D f(0)=-3 @ f(-1)=6 ® f(1)=0
@ f(2)=5 ©® f(-2)=-3



o35}k
=2

il

4. o] f(x) = x*+ax+6 o thote f(-2) =8, f(1) =b
o, b —a © = FStofet

&=
=%



5. T 22y =2x" +¢ o I Zot. ¢ o] Ft= 5tk

’yl\

|

N IR
o

Sy



® y=2x-3 @ y=-2x+3 @ y=2x+4



7. y=a? Qo x=3 0l y=-18°lc}. olu], a 9 FL& F3tefe},

D R
3%



2Rt y = ax+ b O] A7} ohg T 22 o, ok F ol&}
Ay =bx? +a o DY E=?

yll

) @
Y Y
AL
[e) X
® @
Y Y
ARY
O x
®
Y



0] I FO)A y = —éxQﬂx o toted A= djdal
729

@ y=6x> ® y =242
1 1
@yzéx2 @y:—gx2



10. olAF3HE y = —ax? o] T meA] f(-2) = —12 2 0], y = —ax? T} x

% T4l ol ha4o] 49

®y=—§x2 @ y=23x2 ®y=§x2

@ y=-2x2 ® y=-4x?






12. q._g_ ggEle O] _]-@-—/]\— y = ax? 9} :’_EHEO]Q' O] % a —(ﬂ 7,5_-_491\%}:0]

=
Vg E A2?




3 7h)

Sttt

CER

@ otz

@ A (-3, 9) & Adr.

muthZo] o Erh

® y=-2x* 9 O



Zolth 22

A 26 1

Tlo

14, o3 ®H7)=olapets y = 3x2 o] ejme E4E A
AL RF 712H?

(a1
H7]

@ H3go] YxolaL, y Sofl Histe] tiAoldt.

© A (-3, 27) & At

© oFfE EFot, Al 1, 2 AREHS Adrh

® yo @ Wel=y>o00|th

@ x<0 QAN x 7F F7tsHd y = S7HRI

I

ORQ) ® 0.0 ® 9,0,
@® 9,066 ® 9.0,



ozt y = —ax? + b 9 AT} oS
JE} S, a, b o] S5 E?

@ a<0,b>0 @ a>0,b>0

® a>0,b<0 @ a<0,b=0

® a<0,b<0

=







@

-30| x



@ 1



